

ON REVERSE HILBERT TYPE INEQUALITIES

ZHAO CHANGJIAN, WING-SUM CHEUNG, AND MIHÁLY BENCZE

Abstract. In this paper we establish a new inverse inequality of Hilbert type for a finite number of positive sequences of real numbers. The integral analogue of the inequality are also proved. The results of this paper reduce to that of B. G. Pachpatte.

1. Introduction

In recent years several authors(see [1], [2], [3], [4], [5], [6], [7], [8]) have given considerable attention to Hilbert's inequalities and Hilbert type inequalities and their various generalizations. In particular, in 1988, B. G. Pachpatte^[1] proved two new inequalities similar to Hilbert's inequality^[9,P.226]. These two new results can be stated as follows, respectively:

Theorem A. *Let $\{a_m\}$ and $\{b_n\}$ be two nonnegative sequences of real numbers defined for $m = 1, 2, \dots, k$ and $n = 1, 2, \dots, r$ with $a_0 = b_0 = 0$ and let $\{p_m\}$ and $\{q_n\}$ be two positive sequences of real numbers defined for $m = 1, 2, \dots, k$ and $n = 1, 2, \dots, r$, where k, r are natural numbers and define $P_m = \sum_{s=1}^m p_s$ and $Q_n = \sum_{t=1}^n q_t$. Let ϕ and ψ be two real-valued nonnegative, convex and submultiplicative functions defined on $R_+ = [0, \infty)$. Then*

$$\sum_{m=1}^k \sum_{n=1}^r \frac{\phi(a_m)\psi(b_n)}{m+n} \leq M(k, r) \left(\sum_{m=1}^k (k-m+1) \left(p_m \phi \left(\frac{\nabla(a_m)}{p_m} \right) \right)^2 \right)^{1/2}$$

Received by the editors: 23.09.2004.

2000 *Mathematics Subject Classification.* 26D15.

Key words and phrases. Hilbert's inequality, Hölder integral inequality, Jensen's inequality.

Research is partially supported by National Natural Sciences Foundation of China (10271071) and the Academic Mainstay of Middle-age and Youth Foundation of Shandong Province of China.

Research is partially supported by the Research Grants Council of the Hong Kong SAR, China (Project No: HKU7040/03P)..

$$\times \left(\sum_{n=1}^r (r-n+1) \left(q_n \psi \left(\frac{\nabla(b_n)}{q_n} \right) \right)^2 \right)^{1/2}, \quad (1)$$

where

$$M(k, r) = \frac{1}{2} \left(\sum_{m=1}^k \left(\frac{\phi(P_m)}{P_m} \right)^2 \right)^{1/2} \left(\sum_{n=1}^r \left(\frac{\psi(Q_n)}{Q_n} \right)^2 \right)^{1/2},$$

and $\nabla(a_m) = a_m - a_{m-1}$, $\nabla(b_n) = b_n - b_{n-1}$.

Theorem B. Let $f \in C^1[[0, x), R_+]$, $g \in C^1[[0, y), R_+]$ with $f(0) = g(0) = 0$ and let $p(\sigma)$ and $q(\tau)$ be two positive functions defined for $\sigma \in [0, x)$ and $\tau \in [0, y)$, and $P(s) = \int_0^s p(\sigma) d\sigma$ and $Q(t) = \int_0^t q(\tau) d\tau$ for $s \in [0, x)$ and $t \in [0, y)$, where x, y are positive real numbers. Let ϕ and ψ be as in Theorem A. Then

$$\begin{aligned} \int_0^x \int_0^y \frac{\phi(f(s)) \psi(g(t))}{s+t} ds dt &\leq L(x, y) \left(\int_0^x (x-s) \left(p(s) \phi \left(\frac{f'(s)}{p(s)} \right) \right)^2 ds \right)^{1/2} \\ &\times \left(\int_0^y (y-t) \left(q(t) \psi \left(\frac{g'(t)}{q(t)} \right) \right)^2 dt \right)^{1/2}, \end{aligned} \quad (2)$$

where

$$L(x, y) = \frac{1}{2} \left(\int_0^x \left(\frac{\phi(P(s))}{P(s)} \right)^2 ds \right)^{1/2} \left(\int_0^y \left(\frac{\psi(Q(t))}{Q(t)} \right)^2 dt \right)^{1/2},$$

and $'$ denotes the derivative of a function.

The main purpose of this paper is to establish reverse forms of the above two inequalities.

2. Main results

Theorem 1. Let $\{a_{i,m_i}\} (i = 1, 2, \dots, n)$ be n positive sequences of real numbers defined for $m_i = 1, 2, \dots, k_i$ with $a_{i,0} = 0 (i = 1, 2, \dots, n)$, where $k_i (i = 1, \dots, n)$ are the natural numbers. Let $\{p_{i,m_i}\}$ be n positive sequences of real numbers defined for $m_i = 1, 2, \dots, k_i (i = 1, 2, \dots, n)$. Set $P_{i,m_i} = \sum_{s_i=1}^{m_i} p_{i,s_i} (i = 1, 2, \dots, n)$. Let $\phi_i (i = 1, 2, \dots, n)$ be n real-valued nonnegative concave, supermultiplicative and non-decreasing functions defined on $R_+ = [0, +\infty)$. Let $\frac{1}{\alpha_i} + \frac{1}{\beta_i} = 1, 0 < \beta_i < 1$

and $\sum_{i=1}^n \frac{1}{\alpha_i} = \frac{1}{\alpha}$. Set $A_{i,m_i}^{(p_i)} = \nabla(a_{i,m_i}) \cdot a_{i,m_i}^{p_i-1}$, where the operator ∇ is defined by $\nabla(a_{i,m_i}) = a_{i,m_i} - a_{i,m_i-1}$ ($i = 1, 2, \dots, n$) and $0 \leq p_i \leq 1$ are real numbers. Then

$$\begin{aligned} & \sum_{m_1=1}^{k_1} \cdots \sum_{m_n=1}^{k_n} \frac{\prod_{i=1}^n \phi_i\left(\frac{a_{i,m_i}^{p_i}}{p_i}\right)}{\left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} m_i\right)^{1/\alpha}} \\ & \geq M(k_1, k_2, \dots, k_n) \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} (k_i - m_i + 1) \left(p_{i,m_i} \phi_i \left(\frac{A_{i,m_i}^{(p_i)}}{p_{i,m_i}} \right) \right)^{\beta_i} \right)^{1/\beta_i}, \quad (3) \end{aligned}$$

where

$$M(k_1, k_2, \dots, k_n) = \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} \left(\frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} \right)^{\alpha_i} \right)^{1/\alpha_i}.$$

Proof. By using the following inequality (see Hardy *et al.* [9,P.39])

$$h_i x_{i,m_i}^{h_i-1} (x_{i,m_i} - y_{i,m_i}) \leq x_{i,m_i}^{h_i} - y_{i,m_i}^{h_i} \leq h_i y_{i,m_i}^{h_i-1} (x_{i,m_i} - y_{i,m_i}),$$

where $x_{i,m_i} > 0$ and $y_{i,m_i} > 0$ and $0 \leq h_i \leq 1$ ($i = 1, 2, \dots, n$), we obtain that

$$a_{i,m_i+1}^{p_i} - a_{i,m_i}^{p_i} \geq p_i (a_{i,m_i+1})^{p_i-1} (a_{i,m_i+1} - a_{i,m_i}) = p_i (a_{i,m_i+1})^{p_i-1} \cdot \nabla(a_{i,m_i+1}).$$

Consequently

$$\sum_{m_i=0}^{k_i-1} a_{i,m_i+1}^{p_i} - a_{i,m_i}^{p_i} = a_{i,k_i}^{p_i} \geq p_i \sum_{m_i=0}^{k_i-1} \nabla(a_{i,m_i+1}) \cdot a_{i,m_i+1}^{p_i-1} = p_i \sum_{m_i=1}^{k_i} A_{i,m_i}^{(p_i)}.$$

Hence

$$\frac{a_{i,m_i}^{p_i}}{p_i} \geq \sum_{s_i=1}^{m_i} A_{i,s_i}^{(p_i)}. \quad (4)$$

On the other hand, from the following theorem of the Arithmetic and Geometric means^[9,p.17]

$$\prod_{i=1}^n b_i^{q_i} \leq \left(\frac{\sum_{i=1}^n q_i b_i}{\sum_{i=1}^n q_i} \right)^{\sum_{i=1}^n q_i},$$

where $q_i > 0, b_i > 0$, we easy get the following result

$$\prod_{i=1}^n m_i^{1/\alpha_i} \geq \left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} m_i \right)^{1/\alpha}, \quad (5)$$

where $\alpha_i < 0$.

From (4), (5) and in view of Jensen's inequality and inverse Hölder's inequality^[10], we obtain that

$$\begin{aligned}
 \prod_{i=1}^n \phi_i\left(\frac{a_{i,m_i}^{p_i}}{p_i}\right) &\geq \prod_{i=1}^n \phi_i\left(\frac{P_{i,m_i} \sum_{s_i=1}^{m_i} p_{i,s_i} \left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)}{\sum_{s_i=1}^{m_i} p_{i,s_i}}\right) \\
 &\geq \prod_{i=1}^n \phi_i(P_{i,m_i}) \cdot \phi_i\left(\frac{\sum_{s_i=1}^{m_i} p_{i,s_i} \left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)}{\sum_{s_i=1}^{m_i} p_{i,s_i}}\right) \\
 &\geq \prod_{i=1}^n \frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} \sum_{s_i=1}^{m_i} p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right) \\
 &\geq \prod_{i=1}^n \frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} m_i^{1/\alpha_i} \left(\sum_{s_i=1}^{m_i} \left(p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i} \\
 &\geq \left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} m_i\right)^{1/\alpha} \prod_{i=1}^n \frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} \left(\sum_{s_i=1}^{m_i} \left(p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i}. \quad (6)
 \end{aligned}$$

Dividing both sides of (6) by $\left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} m_i\right)^{1/\alpha}$ and then taking the sum over m_i from 1 to k_i ($i = 1, 2, \dots, n$) and in view of inverse Hölder's inequality, we have

$$\begin{aligned}
 &\sum_{m_1=1}^{k_1} \dots \sum_{m_n=1}^{k_n} \frac{\prod_{i=1}^n \phi_i\left(\frac{a_{i,m_i}^{p_i}}{p_i}\right)}{\left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} m_i\right)^{1/\alpha}} \\
 &\geq \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} \frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} \left(\sum_{s_i=1}^{m_i} \left(p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i}\right) \\
 &\geq \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} \left(\frac{\phi_i(P_{i,m_i})}{P_{i,m_i}}\right)^{\alpha_i}\right)^{1/\alpha_i} \left(\sum_{m_i=1}^{k_i} \sum_{s_i=1}^{m_i} \left(p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i} \\
 &= M(k_1, k_2, \dots, k_n) \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} \sum_{s_i=1}^{m_i} \left(p_{i,s_i} \phi_i\left(\frac{A_{i,s_i}^{(p_i)}}{p_{i,s_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i} \\
 &= M(k_1, k_2, \dots, k_n) \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} (k_i - m_i + 1) \left(p_{i,m_i} \phi_i\left(\frac{A_{i,m_i}^{(p_i)}}{p_{i,m_i}}\right)\right)^{\beta_i}\right)^{1/\beta_i}.
 \end{aligned}$$

The proof is complete.

Remark 1. Taking for $\beta_i = \frac{n-1}{n} (i = 1, \dots, n)$ in (3), (3) changes to

$$\begin{aligned} & \sum_{m_1=1}^{k_1} \cdots \sum_{m_n=1}^{k_n} \frac{\prod_{i=1}^n \phi_i\left(\frac{a_{i,m_i}^{p_i}}{p_i}\right)}{(m_1 + \cdots + m_n)^{-n/(n-1)}} \\ & \geq \bar{M}(k_1, k_2, \dots, k_n) \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} (k_i - m_i + 1) \left(p_{i,m_i} \phi_i \left(\frac{A_{i,m_i}^{(p_i)}}{p_{i,m_i}} \right) \right)^{(n-1)/n} \right)^{n/(n-1)}, \end{aligned} \quad (7)$$

where

$$\bar{M}(k_1, k_2, \dots, k_n) = n^{n/(n-1)} \prod_{i=1}^n \left(\sum_{m_i=1}^{k_i} \left(\frac{\phi_i(P_{i,m_i})}{P_{i,m_i}} \right)^{-(n-1)} \right)^{-1/(n-1)}.$$

Taking for $n = 2$ and $p_i = 1 (i = 1, 2)$ in (7), (7) becomes

$$\begin{aligned} & \sum_{m_1=1}^{k_1} \sum_{m_2=1}^{k_2} \frac{\phi_1(a_{1,m_1}) \phi_2(a_{2,m_2})}{(m_1 + m_2)^{-2}} \geq \\ & \geq M(k_1, k_2) \left(\sum_{m_1=1}^{k_1} (k_1 - m_1 + 1) \left(p_{1,m_1} \phi_1 \left(\frac{\nabla(a_{1,m_1})}{p_{1,m_1}} \right) \right)^{1/2} \right)^2 \\ & \quad \times \left(\sum_{m_2=1}^{k_2} (k_2 - m_2 + 1) \left(p_{2,m_2} \phi_2 \left(\frac{\nabla(a_{2,m_2})}{p_{2,m_2}} \right) \right)^{1/2} \right)^2, \end{aligned} \quad (8)$$

where

$$M(k_1, k_2) = 4 \left(\sum_{m_1=1}^{k_1} \left(\frac{\phi_1(P_{1,m_1})}{P_{1,m_1}} \right)^{-1} \right)^{-1} \left(\sum_{m_2=1}^{k_2} \left(\frac{\phi_2(P_{2,m_2})}{P_{2,m_2}} \right)^{-1} \right)^{-1},$$

and

$$\nabla(a_{1,m_1}) = a_{1,m_1} - a_{1,m_1-1}, \nabla(a_{2,m_2}) = a_{2,m_2} - a_{2,m_2-1}.$$

Inequality (8) is just an reverse form of inequality (1) which was stated in the introduction.

Theorem 2. Let $f_i(\sigma_i) \in C^1[[0, x_i], [0, \infty)]$, $i = 1, \dots, n$, with $f_i(0) = 0$, Let $p_i(\sigma_i)$ be n positive functions defined for $\sigma_i \in [0, x_i) (i = 1, 2, \dots, n)$ and define $P_i(s_i) = \int_0^{s_i} p_i(\sigma_i) d\sigma_i$, for $s_i \in [0, x_i)$, where x_i are positive real numbers and set $F_{i,\sigma_i}^{(p_i)} = f_i'(\sigma_i) f_i^{p_i-1}(\sigma_i)$, where p_i are real numbers. Let $\phi_i (i = 1, 2, \dots, n)$ be n

real-valued nonnegative concave and supermultiplicative functions defined on $R_+ = [0, +\infty)$. Let α_i, β_i and α be as in Theorem 1. Then

$$\begin{aligned} & \int_0^{x_1} \cdots \int_0^{x_n} \frac{\prod_{i=1}^n \phi_i \left(\frac{f_i^{p_i}(s_i)}{p_i} \right)}{\left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} s_i \right)^{1/\alpha}} ds_1 \cdots ds_n \\ & \geq L(x_1, \dots, x_n) \prod_{i=1}^n \left(\int_0^{x_i} (x_i - s_i) \left(p_i(s_i) \phi_i \left(\frac{F_{i,s_i}^{(p_i)}}{p_i(s_i)} \right) \right)^{\beta_i} ds_i \right)^{1/\beta_i}, \end{aligned} \quad (9)$$

where

$$L(x_1, \dots, x_n) = \prod_{i=1}^n \left(\int_0^{x_i} \left(\frac{\phi_i(P_i(s_i))}{P_i(s_i)} \right)^{\alpha_i} ds_i \right)^{1/\alpha_i}.$$

Proof. From the hypotheses, we have

$$f_i^{p_i}(s_i) = p_i \int_0^{s_i} F_{i,\sigma_i}^{(p_i)} d\sigma_i, \quad s_i \in [0, x_i].$$

By using Jensen integral inequality and inverse Hölder integral inequality and notice that $\phi_i (i = 1, 2, \dots, n)$ are n real-valued supermultiplicative functions, it is easy to observe that

$$\begin{aligned} & \prod_{i=1}^n \phi_i \left(\frac{f_i^{p_i}(s_i)}{p_i} \right) = \prod_{i=1}^n \phi_i \left(\frac{P_i(s_i) \int_0^{s_i} p_i(\sigma_i) \frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} d\sigma_i}{\int_0^{s_i} p_i(\sigma_i) d\sigma_i} \right) \\ & \geq \prod_{i=1}^n \phi_i(P_i(s_i)) \phi_i \left(\frac{\int_0^{s_i} p_i(\sigma_i) \frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} d\sigma_i}{\int_0^{s_i} p_i(\sigma_i) d\sigma_i} \right) \geq \prod_{i=1}^n \frac{\phi_i(P_i(s_i))}{P_i(s_i)} \int_0^{s_i} p_i(\sigma_i) \phi_i \left(\frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} \right) d\sigma_i \\ & \geq \prod_{i=1}^n \left(\frac{\phi_i(P_i(s_i))}{P_i(s_i)} \right) s_i^{1/\alpha_i} \left(\int_0^{s_i} \left(p_i(\sigma_i) \phi_i \left(\frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} \right) \right)^{\beta_i} d\sigma_i \right)^{1/\beta_i}. \end{aligned} \quad (10)$$

In view of inequality (5) and integrating two sides of (10) over s_i from 0 to $x_i (i = 1, 2, \dots, n)$ and noticing reverse Hölder integral inequality, we observe that

$$\int_0^{x_1} \cdots \int_0^{x_n} \frac{\prod_{i=1}^n \phi_i \left(\frac{f_i^{p_i}(s_i)}{p_i} \right)}{\left(\alpha \sum_{i=1}^n \frac{1}{\alpha_i} s_i \right)^{1/\alpha}} ds_1 \cdots ds_n$$

$$\begin{aligned}
 &\geq \prod_{i=1}^n \int_0^{x_i} \left(\frac{\phi_i(P_i(s_i))}{P_i(s_i)} \right) \left(\int_0^{s_i} \left(p_i(\sigma_i) \phi_i \left(\frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} \right) \right)^{\beta_i} d\sigma_i \right)^{1/\beta_i} ds_i \\
 &\geq \prod_{i=1}^n \left(\int_0^{x_i} \left(\frac{\phi_i(P_i(s_i))}{P_i(s_i)} \right)^{\alpha_i} ds_i \right)^{1/\alpha_i} \left(\int_0^{x_i} \int_0^{s_i} \left(p_i(\sigma_i) \phi_i \left(\frac{F_{i,\sigma_i}^{(p_i)}}{p_i(\sigma_i)} \right) \right)^{\beta_i} d\sigma_i ds_i \right)^{1/\beta_i} \\
 &= L(x_1, \dots, x_n) \prod_{i=1}^n \left(\int_0^{x_i} (x_i - s_i) \left(p_i(s_i) \phi_i \left(\frac{F_{i,s_i}^{(p_i)}}{p_i(s_i)} \right) \right)^{\beta_i} ds_i \right)^{1/\beta_i}.
 \end{aligned}$$

This completes the proof of Theorem 2.

Remark 2. Taking for $\beta_i = \frac{n-1}{n}$ ($i = 1, \dots, n$) in (9), (9) changes to

$$\begin{aligned}
 &\int_0^{x_1} \cdots \int_0^{x_n} \frac{\prod_{i=1}^n \phi_i \left(\frac{f_i^{p_i}(s_i)}{p_i} \right)}{(s_1 + \cdots + s_n)^{-n/(n-1)}} ds_1 \cdots ds_n \\
 &\geq \bar{L}(x_1, \dots, x_n) \prod_{i=1}^n \left(\int_0^{x_i} (x_i - s_i) \left(p_i(s_i) \phi_i \left(\frac{F_{i,s_i}^{(p_i)}}{p_i(s_i)} \right) \right)^{(n-1)/n} ds_i \right)^{n/(n-1)}, \quad (11)
 \end{aligned}$$

where

$$\bar{L}(x_1, \dots, x_n) = n^{n/(n-1)} \prod_{i=1}^n \left(\int_0^{x_i} \left(\frac{\phi_i(P_i(s_i))}{P_i(s_i)} \right)^{-(n-1)} ds_i \right)^{-1/(n-1)}.$$

Taking $n = 2$ and $p_i = 1$ to (11), (11) changes to

$$\begin{aligned}
 &\int_0^{x_1} \int_0^{x_2} \frac{\phi_1(f_1(s_1)) \phi_2(f_2(s_2))}{(s_1 + s_2)^{-2}} ds_1 ds_2 \geq \\
 &\geq L(x_1, x_2) \left(\int_0^{x_1} (x_1 - s_1) \left(p_1(s_1) \phi_1 \left(\frac{f_1'(s_1)}{p_1(s_1)} \right) \right)^{1/2} ds_1 \right)^2 \\
 &\quad \times \left(\int_0^{x_2} (x_2 - s_2) \left(p_2(s_2) \phi_2 \left(\frac{f_2'(s_2)}{p_2(s_2)} \right) \right)^{1/2} ds_2 \right)^2, \quad (12)
 \end{aligned}$$

where

$$\bar{L}(x_1, x_2) = 4 \left(\int_0^{x_1} \left(\frac{\phi_1(P_1(s_1))}{P_1(s_1)} \right)^{-1} ds_1 \right)^{-1} \left(\int_0^{x_2} \left(\frac{\phi_2(P_2(s_2))}{P_2(s_2)} \right)^{-1} ds_2 \right)^{-1}.$$

Inequality (12) is just an reverse form of inequality (2) which was stated in the introduction.

References

- [1] B. G. Pachpatte, A note on Hilbert type inequality, *Tamkang J. Math.*, **29**(1998), 293-298.
- [2] G. D. Handley, J. J. Koliha and J. E. Pečarić, New Hilbert-Pachpatte Type Integral Inequalities, *J. Math. Anal. Appl.*, **257**(2001), 238-250.
- [3] Gao Minzhe and Yang Bicheng, On the extended Hilbert's inequality, *Proc. Amer. Math. Soc.*, **126**(1998), 751-759.
- [4] Kuang Jichang, On new extensions of Hilbert's integral inequality, *J. Math. Anal. Appl.*, **235**(1999), 608-614.
- [5] Yang Bicheng, On new generalizations of Hilbert's inequality, *J. Math. Anal. Appl.*, **248**(2000), 29-40.
- [6] Zhao Changjian, On Inverses of disperse and continuous Pachpatte's inequalities, *Acta Math. Sin.*, **46**(2003), 1111-1116.
- [7] Zhao Changjian, Generalizations on two new Hilbert type inequalities, *J. Math.*, **20**(2000), 413-416.
- [8] Zhao Changjian and L. Debnath, Some New Inverse Type Hilbert Integral Inequalities, *J. Math. Anal. Appl.*, **262**(2001), 411-418.
- [9] G. H. Hardy, J. E. Littlewood and Pólya, *Inequalities*, Cambridge Univ. Press, Cambridge, U. K. 1934.
- [10] E. F. Beckenbach and R. Bellman, *Inequalities*, Springer-Verlag, Berlin-Göttingen, Heidelberg, 1961.

DEPARTMENT OF MATHEMATICS, SHANGHAI UNIVERSITY
SHANGHAI 200436, P. R. CHINA
DEPARTMENT OF MATHEMATICS, BINZHOU COLLEGE
SHANDONG 256600, P.R.CHINA
E-mail address: chjzhao@163.com

DEPARTMENT OF MATHEMATICS, THE UNIVERSITY OF HONG KONG
POKFULAM ROAD, HONG KONG
E-mail address: wscheung@hku.hk

STR. HARMANULUI 6, RO-2212 SACELE, JUD. BRASOV, ROMANIA